- WP kR
\RLLO0E ARG 24 oKE G 95 0 0 LR § 6O - A
7y

R E )329}1’-< e g/?*8): _%F’“%il?)}i"i@ TRA8RE - G ok
B & ,—r,:#‘@:)a 13/ B % > 4% \1368%’§r$7’5&’?@:p10}§;r.

= ’%*f*“’f‘ CREB PN R 8EL K2 s A bt
J51 B ATR R Rl EBERE

G oREZ BATWR G v £ £35198,708.7F = 2 o7 o K3
BEEX3202,1214 =3 o8 > HY LAY ﬁ»g%%&/Fl’ﬁ wx B
- 5197,67958 = & & & | W #c2 99.48% - w IR B A
2910702;@7’*""5'\’{ F‘eég{y‘ 9964%, rﬁé&ﬁ.?ﬁ \g\fﬁ’»*’T%&/FI’ﬁ“ 2':

B £285102928 =3 21§ 2%z 052% > %oy £ 51,0512
o8 b M2 0.36% o

VIR BT R G R B A R TERG B ok J%?»Bi? JESIRIE A
BhGE o A ) B2 2676%% 28.54% 0 H =k LAt o oA L Rk
2.17.18%% 14.14% - (4% 1~ %£8)

Bl mt ki

Froooc 3 ®110# &
84,000
BRFREE
O&ATH R G 227 2
63,000
42,000
21,000
0
AR 2 B3 P ATY e 2 E A T AL W
AEY AR R EALNEPRE AP
BoH R B R ORRBRRARRRARR R RRRARR OB ORA K



